Pre-IB Sc 9

Name: _______________

Ohms Law Practice
For each problem:

i) State your knowns

ii) Show any necessary unit conversions using unit factor method

iii) Write the formula used and show all solution steps.  Answers must have units.

iv) Some questions will require use of scientific notation 😊
1. What is the resistance of a toaster if a current of 12.5 A flows through it when it is connected to 120 V?

2. A light bulb has a resistance of 90 Ω.  What current flows through the bulb when it is connected to 120 V?

3. A current of 0.50 A flows through a light bulb that has a resistance of 18 Ω. What is the voltage across this light bulb?

4. A flashlight bulb has a resistance of 4.0 Ω. What current passes through the bulb if it is connected to 3.0 V?  Give answer in milliamperes (mA).
5. What potential difference is necessary to produce a current of 0.60 A in a load that has a resistance of 25 Ω?
6. The current through a load in a circuit is 2.5 A. If the potential difference across the load is 0.075 kV, what is the resistance of the load?

7a. An 80 V potential difference is measured across a light bulb that has a resistance of 16 Ω? What is the current through this light bulb?

b. If the light bulb (from question 7a) was replaced by a bulb with twice the resistance, what would be the new current through the bulb?

8. A 25 mA current flows through a 300 Ω lamp. What is the voltage across the lamp?
9. Only 2.5 × 10(3 A of current pass through a portable CD player. If the CD player is operated by a 9.0 V battery, what is the resistance within the circuit [write answer in scientific notation]?
10. In a portable radio, 0.50 mA of current are flowing through a conductor that provides 18 ( of resistance. What potential difference is provided by the battery [write answer in scientific notation]?
11. A clothes dryer uses a 2.2 x 102 V power source. The coils of the heater provide an average resistance of 12 (. What amount of current is flowing through the heating coils?

12. A 9.0 V battery maintains a current of 3.0 kA through a portable radio. What is the resistance of the conductor, in mΩ?

13. A light bulb will allow 0.50 A to flow through it. If the outlet provides a potential difference of 110 V, how much resistance is provided by the bulb?

14. An automobile headlight has a resistance of 0.4 k( when attached to a standard 12 V battery. How much current flows through the headlight?

15. A portable CD player, operating with four 1.5 V batteries connected in series, provides a resistance of 15,000 (. What amount of current is flowing through the CD player? [write answer in scientific notation]
